N = 0l & At & M A

20168 =& 1 3 23 EXEEH

A EXNEEDL

Ha: Y 7

oo EXNBNHE P2 =X (e9: & 9)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2

EXNF2H 247,578 241,951 5,627

2 52,000 55,694 £3,694

Al 29,700 16,000 13,700

2| 165,878 170,257 £4,379

NH#y D8 226,354 219,770 6.584

2 52,000 55,694 £3,604

Al 29,700 16,000 13,700

2| 144,654 148,076 £3,422

ENBNY g2 =7 66,504 68,582 ~2,078

HEBARL & 44,704 46,782 £2,078

201 L2l 29,586 31,124 ~1,538

01 Ab 2reltl 25,536 27,074 ~1,538

OMEXIt BE+42(HAEY) 20,290 21,572 ~1,282

- AHE X} 23 18,090,0008 18,090 19,372 A 1,282

ONIIEA SLBE(HAMEL) 2,270 2,526 £256

- B2H 93 23 594,0008 594 850 256

203 & 2 XA H| 360 400 £40

03 AMFRY L F Y| 360 400 £40

OBAXINIEA L2 (G AEY)

2 360,000 360 400 £40

301 YerE A 13,408 13,908 A500

EEEEEEINE 13,408 13,908 £500

ONHEY PREE(HAEY) 13,408 13,908 A500

=3 2N 6,596,0008 6.596 7,006 A500

NHeIAAHA M3 13,192 7,262 5,930

ALt 6,500 0 6.500

2| 6.692 7,262 A570

NEsZoay 29 6,500 0 6,500

ALt 6,500 0 6,500

101 2124 Hl 4,000 0 4,000

Al 4,000 0 4,000

YSIERTEESVETRS 4,000 0 4,000

ONEZOUAY 2 BX 4,000,0002! 4,000 0 4,000

AlHI 4,000 0 4,000

201 Lt | 2,500 0 2,500

Al 2,500 0 2,500

01 AL 22l 2,500 0 2,500

ONXNBIOIAN SHSE 2,500 0 2,500

CTREHEW (22 1,309,000 1,309 0 1,309

Al 1,309 0 1,309

CDREHEU(E) 4950008 495 0 495

Al 495 0 495
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2N
X ZH -
L= B

el

EXNNLD
NNy Do
X el

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
O HEXXZA dRFF(0aEZ)
2 & 445,000& 445 480 A 35
OXNH GREX (0 &EY) Z & 370,000 370 400 230
FSUESESRALE 2e 6,101 6,991 A 890
201 Lt 6,101 6,991 A 890
01 ArR2t2lHl 2,470 2,660 A 190
OXNEEH USHEZI 22 (0AE2) 1,860 2,000 A 140
NREE IsSHMEI 43
d& 1,180,000& 1,180 1,320 A 140
ORSHESESEALAE S (MaEZ)
2 & 610,000& 610 660 A50
02 =24l 3,631 4,331 A700
ORSHESESEANAY AZENH R E2(
Ol A E 2)) 3,631 4,331 A700
220/BAX(SEHIES AZEX)
3 & 2,442,000& 2,442 3,142 A700
INESPUESUN; 57,778 61,883 24,105
= 52,000 55,694 A 3,694
Al 5,200 0 5,200
4l 578 6,189 A5,611
201 L Et2A | 57,778 61,883 24,105
= 52,000 55,694 A 3,694
Al 5,200 0 5,200
I 578 6,189 A5,611
01 At 22l bl 57,778 61,883 A 4,105
OXNETHE=AN E=2 2 & 57,778,000 57,778 61,883 AN4,105
= 52,000 55,694 A 3,694
AlH 5,200 0 5,200
4l 578 6,189 A5,611
NETHEAL L2 5,160 1,000 4,160
201 ¢4l 3,000 1,000 2,000
01 ArR2t2ltl 3,000 1,000 2,000
OXNEMEA EEES S MH
2 & 3,000,000& 3,000 1,000 2,000
202 Oddl 2,160 0 2,160
01 = LH 4 Hi 2,160 0 2,160
OXNETHEZAL &AL 20,0003 x6H 33| x6& 2,160 0 2,160
C2HEFA ALY 71,858 67,858 4,000
AlH 18,000 16,000 2,000
L Hl 53,858 51,858 2,000
S2YEFA AES 2el 56,458 52,458 4,000
Al 16,000 14,000 2,000
T Hl 40,458 38,458 2,000
401 A& HIZ 201 I 54,694 50,694 4,000
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2N
3 XA
gHel &

EXEEN

M NH

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
AlH 16,000 14,000 2,000
T Hl 38,694 36,694 2,000
01 A& HI 54,694 50,694 4,000
O=JlX88se X s Z&F 24,000,000& 24,000 20,000 4,000
AlHI 12,000 10,000 2,000
- Hl 12,000 10,000 2,000
HERLAZH(EXNEED) 19,089 20,208 A1,119
Jl2&dl 19,089 20,208 A1,119
Jl=Z 19,089 20,208 A1,119
201 Let2dE] 14,889 16,008 A1,119
01 AFR 22l 14,889 16,008 A1,119

OJlzge=8 2l (MaEY)

2% 7,188,000& 7,188 7,728 A 540
ORM2g==gHI(0&EZ) FE 7,701,000 7,701 8,280 AB79
MRES(EXNFE) 2,135 1,973 162
8= 2,135 1,973 162
EXNEEN ZAHEEZS BHE S 162 0 162
802 Btet= DI Et 162 0 162
02 Al - EHIEZSEHEZ 162 0 162
OXNFSZUY 29 162,000& 162 0 162
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